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Answer three questions.

Answer one question from Section A, one from Section B and one question from Section C.

You are advised to spend 50 minutes on Section A, 50 minutes on Section B and 20 minutes on 
Section C.

SECTION A

Answer only one question from this section.

1* Discuss the extent to which the rules of causation operate fairly. [50]

2* Discuss the extent to which development of the defence of consent has been fair and consistent.
 [50]

3* ‘The offence of involuntary manslaughter is too wide-ranging.’

 Discuss the case for reforming involuntary manslaughter. [50]
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SECTION B

Answer only one question from this section.

4* Phil is desperate for money. He tells his girlfriend Kirsty to break into the house next door and 
steal any cash she can find. He grabs Kirsty’s teenage daughter Emma and threatens to hurt her 
badly if Kirsty doesn’t come back with some cash straight away. He also warns her not to call the 
police as he will be watching. Kirsty breaks in but fails to find anything of value to steal. Worried 
about returning empty-handed, Kirsty drinks half a bottle of vodka before leaving the property. 
When she returns Phil is holding a knife to Emma’s throat and tells Kirsty that he is going to slash 
her face. Kirsty throws the bottle of vodka as hard as she can at Phil’s head hitting him once. Phil 
dies.

 Advise Kirsty on the potential defences which may be available to her against charges of burglary 
and murder. Do not discuss the offences themselves. [50]

5* Arthur is married to Debbie who is pregnant. Debbie’s brother, Pete, is staying overnight. He is 
awoken in the early hours by screaming. He goes to the couple’s bedroom to find Arthur beating 
Debbie over the head with a bedside lamp. Debbie and her unborn child both die. Arthur has a 
history of sleepwalking and when the police interview him he cannot remember anything except a 
nightmare in which he was hitting an enemy soldier over the head with his rifle.

 PC Smith visits the house to speak to Pete. Pete is diabetic and has low blood sugar after failing 
to eat properly after taking insulin. He gets into an argument with PC Smith and lashes out 
uncontrollably, hitting him violently several times. PC Smith dies from his injuries.

 Advise Arthur and Pete of their potential liability, if any, for murder and any defences that may be 
available to them. Do not discuss voluntary manslaughter. [50]

6* Daliso works in a bar. He takes home some beer glasses believing that this is a perk of the job. 
When Daliso is paid he notices that he has been overpaid by £120, but he says nothing and uses 
the money to buy a pair of jeans. Daliso has told his flatmates that he will organise a party but he 
has no cash for drinks. He decides to take the £55 they have given him as their contribution to the 
electricity bill. Daliso does not think £55 will be enough, so he also goes into his flatmate Richard’s 
bedroom and takes £20 from a drawer believing that he will not notice. As Daliso is about to leave 
the room, Richard returns. Daliso pushes him out of the way and runs off.

 Advise Daliso of his potential criminal liability, if any, for offences under the Theft Act 1968. [50]
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SECTION C

Answer only one question from this section.

7 Imogen wishes to kill her husband, Brian, after finding out he is having an affair. She buys some 
poison and puts a lethal dose into Brian’s coffee. Brian sees what she is doing through the window 
and does not drink the coffee. In an act of revenge, Brian wires up the garage door in order to 
teach Imogen a lesson by causing her a nasty shock when she opens it. When Imogen parks on 
the driveway instead, he waits for her to go to sleep, goes upstairs and stabs her repeatedly. He 
does not realise that Imogen had died of a heart attack an hour before.

 Evaluate the accuracy of each of the four statements A, B, C, and D individually, as they apply to 
the facts in the above scenario.

 Statement A: Imogen is guilty of attempted murder when she buys the poison.

 Statement B: Imogen is guilty of attempted murder when she pours the poison into the coffee.

 Statement C: Brian is not guilty of attempted murder when he wires up the garage door.

 Statement D: Brian is guilty of attempted murder when he stabs Imogen despite the fact that she 
is already dead. [20]

8 Tom runs a café bar. He has given a customer food poisoning by serving them out-of-date prawns. 
He was assured by the seller of the prawns that they were fresh and fit for human consumption. 
Tom also serves a customer alcohol without realising he was already drunk. Tom’s 16-year-old 
son, James, is the bar’s DJ. He broadcasts music illegally over the radio which interferes with 
the emergency services’ radio frequency. James’ friend works in a betting shop and allows him to 
place a bet on a horse. His employer, Marcus, has warned him not to allow underage gambling.

 Evaluate the accuracy of each of the four statements A, B, C, and D individually, as they apply to 
the facts in the above scenario.

 Statement A: Tom is not guilty of a strict liability offence when the customer is poisoned, because 
the seller of the prawns assured him they were fresh.

 Statement B: Tom is guilty of a strict liability offence when he serves the customer alcohol.

 Statement C: James is guilty of a strict liability offence when he broadcasts music illegally.

 Statement D: Marcus is guilty of a strict liability offence when James is allowed to place a bet.
 [20]
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